S=1:-500

- 1=02.383n

A A

I=0, 074%
S g1t
012 e
S v
FH=[143.150
|= 98.945 L= 125.000

0 0THITON

0°G+80T°ON

170 i 1PNO 1P.25-1 1PNO 1P.25-2 1PNO 1P.26 170 .2 1P0 i
A 7-27-58.5 it e = A 5-21-13.0 A 18-24-41.7
= S50.060 T A 21-32-01 A 48-05-51 T_A| 1250008 , . = 55000 = 60006
[ 46.912 B - B g [ 52.32 [ 51.415
A 113-34-40
s L 0.765 c L 22.5%0 c L 20.986 c L 63.269 R 23-000 s L 0.612 s L 2.088 1:500
s L 1.075 s L 2.376 s L 33.807 -
T L 33.605
T L 43.611
S L 18.166
N N N
""s:A '%% "s:%
o - X = \ 21 1




T

W @

e
z = RS
|2 = -
e = e
2l = N
e B &
= |E|5]_| 47
T % ®
= i
#® i =
B = m -
o | s
| = 14 -
ST HEHNE
H(E i |= =
= £ Hlm 2| &
2 8
2%
Q OJ.
S\ 5 [y 1
A% 52 o)
i , g
1 . | . P . 4 B 4 611 0N Y = H
€51°0 128181 8y .51 €96 8262 H 001°9 0681+ \
—4
&/ ) ] ) ) ) =
ofSs o H P10 HoteLs1  H ev sl €98°7L67 H €98°21  H 9204 [ H \
YA |
/S \
~Jd
h/E \
& | ! - £98 21T {ON
=|s \./ [%o0] o7 kit -oN| | osz[T=H|
i ver U oot Uooeoer Ueroe voer W1y 1 U L
== 100K ﬂwwv 2210 208 "LST 817281 000 "09€2 TLL78T 811 °ON
=~ =
=
E =t ! |
I 8 Sk
ﬁ H ario H zoeus1  H 91:281 6221765 H 6221 H 9z 'ds H | IfEEd
g H €c10 H €oe 261 H &1-Lar 000°0v€c H 00000z H T oNH| =8
# N
# =
=]
| | |
H 8990 H 81e261  H ¢9°951 00070262 H 9001 H  oT1-oN H
Ee
H 9670 H 92€ 251 H ¢6°951 ¥6G 6067 H V656 H 92088 [
o F
_ L 0921 Hostwzsr U errest U ooooogz L 6680 H suonH &8
CEEE H €61 Heorzs1  Hezeer  H 1016660 H 101°€ H cewdasH =F
L170-= o 2
U orp- Uoener U oprece . U oo - U oo - | =3
082 0% \u/ 916 T 950 "LST V1681 0009622 0009 000 9T+ =
ove LT H 6zl H 697961  H ¥brest 0000622 H €6€°1 H 00001+ H
/|\| 8LT°T M 8897991 | 197681 L09°886% [ L09°8 M 2-92 044 [
T H 2570 H 2907951 H 6 csl 0000822 H 899°% oo | - 3
= &
120704 H ¢ve 0 H gg8est [ 8¢ sl geeLLer el Hoor1-gzdsH |87
=g
H 200 H 229°vs1  H 85 °¥s1 1909922 M 290°9 H 1-¢20d4 [
H v21 -0 H ve6esT [ 18°€51 00070922 H 000702 M 110N M H
SN Ro0s 1= | Lo ortart o
| |
H 7€0°0 H 799151 H €9°161 000°0¥22 H 000702 H  zT1°0N [ H
8
ol
T|<
=%
| |
H 7800 H v6€6v1 [ 1€°6V1 0000222 H €8T H  111°0N [ H
| |
H 2800 H 29z b1 H 81:2b1 221088 H 2zl H oz 0d H - H
H €600 H ezl vl H €0 Lvl 00070022 H 000702 H  ofl‘oN H H
| | |
o H 9910 H 988 vl H 2L vl 0000813 H 1€2°2 MooeoroNf s H
o0 H 681°0 H 69971 H 8% ¥¥1 69L°LL10 H 69L°21  H RN H
LV
———— = ogtert H H 089°€rl 89yl 000°5912  H 000°S H000°¢+ H | H | |
/ﬂ A KK
et H 0v0°0 Hotverl H Leevl 0000917 H 989°S H  soroN [ H
TR H 980°0 H v8ierl  H Lzevl vievele Hvievt  H ez 0d H = H
. | |
2
=] b
H 090 "0 H 096 2v1 M 20°evl 000°0¥1Z H 66€°21 M ‘oN H LS H
00°0+2010N roro i
——
H £00°0 H L9872v1  H 18°2h1 19972212 H 199°L H 2 0d H H H
| | |
H 6500 H 608gv1  H eLzvl 0000212 H 1s€°'ST  H 901 0N M H
%,
<
3
3
e
B\ H 2800 H 269 °av1  H 19°2h1 691012 H 6V9 % M veds [l M ! !
A\ H
2 Z M L60°0 M 89 °2vT | 99 7arl 000 001G [ €9¢€ 8T H <01 "ON [ = 5
S\¥
2
PO
2N\
EXON
= 2 -
< 1 1 1
H 8010 Hs1sgrl  H 1y 2hl 16971805 H L€9'1 H 2 0d H - H
M 9010 M 90S vl | OV Gvl 000 080G [ S¥6 €T M 0T "ON [ §
2
|3
T
i
@- 080°0 HoLeghl M 622hl 6509902 H H H H %005 T
=3 =3 =3 =3 =3 =3
S S S < < 001:1=A <
Ity S iy S It} =
3 [n] 4 g
b= b= @ 2 = B3| & H H L 1 % B g g = =
il
|
2 =1 4 = &= &
=
& i = = = ) b = H ic H




= UE Wrom
IR W
1000 S=1:20
L0 oy
5 -
PR RAGEH500 . BKIH500 L3
¥
) 1 wl
7 s
r 7
s/
7
//
gl /
= /
s/
7
S s
/Jﬁ
n—
((Au&fiél»-l) ) 5
500 5000 1000 , s 2 20 .
500 2000 2000 500 i
H—Fr—n A 1 T ‘ I AR AT M40 t=15¢cm
LA n (2| at
Gr-C-E [ETR P Pre=yrm 2 ALBREA R (CBR20) _ t=60cm
WE | 1:0.8 | SEIEHKE 3o (B IR =100
1.50 1.50
=
— :
r
I
F/ERRIET A2y 20 t= 5em .
i
ey BIEERRAER A M40 t=15¢cm
A b RAEMIEER (CBR20)  1=60cm
(Rl _ -
(Rl (27 7i8)
500 5099 1000
500 2000 2000 99500
i)
. —
H—FL—n -
Gr-C-E
F G0 R
(HBE) 1.50
7wy R T
1500 -
(IRT3H) . o
(A7 v 7H)
SRR A3y -
500 5000 1000 FEBHET A0 20 1= fen
iR ABE T AR AT M40 t=165cm
500 . 2000 2000
A N RETEMELE (CBR20)  t=60cm
H—FL—n ' I
‘ N | i ¥R 1=100cm
' 4
‘ A
II
| : /
1,50 1.50 |
[ 1 rs
H 4
LRI T — /
\
\Q
FHAEBRIET 22 20 t= 5em ]
@ Bl R TATA M-4 -15 .
\_\_a WA R EERR AR M-40 t=15cm T W Tk R T
AL b REEAAEA (CBR20)  1=60cm
T £ &)
i . -
i oV NIEE
% WTiE FHE K
B K t=100cm i T 7 AR A PRI T Py
1 i Pl PR AE T 7 X
MR 1:50
B R BT i [
Ao f now n |
X i 7 7 21 #zA 3




S=1:100

NO.113

GH= 153.81
FH= 153.934

DL=135.00

3000

148 626

1780 14

\)\
146,700 )

>

6000 500 1000
1500 4500 hoo 2000 2000
153.897 lT = 2>
0 :
2 /,é
o p
S
8 o
4
- 150,897 v 4
g
»
2 o
8 b
™) 3 1 ~
\o
147 3
o 9 g Y
= o
8 . b
W ~
145 400 Aﬁé
NO.112
GH= 151.63
FHo 151.c64
6000
1500 4500 k00 2000
151.626 ”

8
o2 o_1
0.8 0.9

-0 1.2 (0]
W 2.5 o.5 —
W_4.0 5.5] 0.9
W 1.af 3.3
.0 — —
W 2.5 1.8 —
W_4.0 0.6 _
W — —
o _1 —
W_1.0 — —
1.0 W 2.5 — —
2.5 W_4.0 2.0 —
4.0 W _ _
16.1 |16.1
6.0 6.0
9.6| 9.6
D o.2| o.2
.3 -
0.1 =
D Q —
5 4 0.9
1.1.0 — —
108 — —

8
2.2 1.2
W 1.0 0.5] 0.3
1.0 W 2.5 2.2| 1.6
2.5 W_4.0 3.0 —
4.0 W _ _
W 1.0 _ _
1.0 W 2.5 1 > _
2.5 W_4.0 — —
4.0 W — —
0.1 =
W_1.0 — —
1.0 W 2.5 — —
2.5 W _4.0 — —
4.0 W > 7 —
5.3| 5.3
z.6] 7.6
a._7 a.7
D o.5] 0.5
(o] —
D o _
54| 0.9
1 1.0 2.7 —
108 — —

NO.112 NO.113

1:100

21




S=1:100

6059 5500
559 4500 B0Q 2000 2000 500 50
155.925 " 4000 .
%
A
o 2
8
E
0 182 925
) e
-
3 8
8 3
o
\o
147.300
o \¥ )
= < ° o'
1 N1 fo
105 000 O\ [l v
<
5000
5500
6000
BC_25-1
GH=154_58
FH=154_622
6000 0 5250
1500 4500 RO 2000 2000 250 50
o -
o 2 K /
= P2 > -
o) > /
a o
151 653 S
=
€
o
1 o ?
8 b
\o
ol
&

146 0

8
o.al o.1
W 1.0 1.2]| o.9
1.0 W 2.5 > >l 16
2.5 W 4.0 oal o o
4.0 W 11 o 5
W_1.0 — —
1.0 W 2.5 —
2.5 W 4.0 1.1 -
4.0 W 3.0 —
.1 =
W 1.0 — —
1.0 W 2.5 — —
2.5 W 4.0 1.8 —
4.0 W — —
29 929 9o
20 4 120 4
=) 9 6
C o8l o.s8
Q.9 —
D o.7 —
5.4l 0.9
11.0 — —
1 0.8 — —
8

o.al o 1
W 1.0 1.1l o.8
1.0 W 2.5 o.5 —
2.5 W 4.0 4.9 —
4.0 W 2.3 2.3
W 1.0 _ _
1.0 W 2.5 10 —
2.5 W 4.0 15 —
4.0 W _ _
0. 1 =
W 1.0 — —
1.0 W 2.5 — —
2.5 W 4.0 2.2 —
4.0 W — —
16.8|16.8
12.7|12.7
8.4| 8.4
C 0 6 0 6

0. 6
Q.2 =
D o -
5.4 0.9
110 — —
108 — —
BC.25-1 SP.25-1

1:100

21




S=1:100

6638

EC_.25-1 ,BC_25-2

500

GH=155.51
FH=156.688

6000

2138 4500 00750 2000 2000
«
156.655 ” 2000f 'l //
=
155.64 QA -
3 > o
C1950)D _
153.655
i B :
”
A
o
8l o
el g
N
14761
(900D
o
3
9
DI =140 00
FH=156_062
6052 0Q 5569
1552 4500
156.148 ” 3.303 ¢ - o L
g/A -
o >
A
E
P
— 1523 148 g
g
-
2| 7
3 g
b
146 .700
8|
E o
< H
144 800" ©
o
7
5500
6000
6500
d
s

8

1.0 =
W _1.0 0 4 [o T |
1.0 W 2.5 4 a >
2.5 W _4.0 - -
4.0 W 11 25
W 1.0 — —
1.0 W 2.5 — —
2.5 W 4.0 — —
4.0 W 5.9 —
0.2 —
W 1.0 — —
1.0 W 2.5 _ _
2.5 W 4.0 2.0 —
4.0 W _ —
A6 4146 A4
10 al10 a
1a. 6|14 .6
D o.2| o.2
0.5 =
D 0.4 =
5.4] 0.9
1 1.0 — —
1 0.8 — —

8
o0.3! 0.2
W 1.0 o.8| o.5

1.0 W 2.5 2 2| o
2.5 W 4.0 o o5

40 W 12 o

W_1.0 — —
1.0 W 2.5 — —
2.5 W _4.0 - -
4.0 W a_7 —
o —
W 1.0 — —
1.0 W 2.5 — —
2.5 W 4.0 1.7 —
4.0 W — —

S (S
22 5122 5
10 5110 5
C 0.5 0.5
0.9 —
D o —
s5.4] 0.9
11.0 — —
1 0.8 — —

@ NO.114 BC.25-2

1:100

21




S=1:100

NO._.115(CSP _25-2)
GH=155.43
FH=157.190

6625 0! 6500
2125 4500 500 1500 2000 2000 boo 5
- W 1.0 1 2] oo
1.0 W 2.5 > o] 4
156.933 2.5 W _4.0 a4.5| a5
4.0 W 12 4 o
2 W 1.0 _ _
§ Y 1.0 W 2.5 _ _
Y 2.5 W 4.0 — —
4.0 W Z. 0o _
153,933 o _
=
3 W_1.0 _ _
1.0 W 2.5 _ _
2.5 W 4.0 1.0 _
4.0 W — —
42 5142 5
19 4119 4
& 15 0ol1s o
N g C 1.7 1.7
8
” o.8 _
/ D o.7 _
s.4| 0.9
1 1.0 — —
1 0.8 — —
=
g
2
144 8
g ‘
/ 5500
6000
6500
DI =140 00
NO.114+16 .00
FH=157 _056
8
6379 500 6369 _ _
1879 4500 B0 1304 2000 2000 65 50! W 1.0 1 2 0.9
1.0 W 2.5 > a2l 1.8
2.5 W_4.0 4 0ol a o
4.0 W 13 .8 9
W 1.0 _ _
1.0 W 2.5 _ _
2.5 W 4.0 — —
a_697% 4.0 W —
156.877 W r - -6
oy — 0.2 -
[ 1.0 — _
155_64 2 1.0 W 2.5 _ _
P
10503 % > ~ - e
1950 : = =
a2 2 la2> 2
153,877
E’F’I T I:’l’ 14 _4al14a 4
“ 0 14 14
v c 1.0l 1.0
.7 =
(3
N D o.5 _
o 5.4] 0.9
& 1 1.0 _ _
108 _ _
]
14761
900 \o
< D 146 700
NO.114+16.00 NO.115
o
£ 8 ]

6000

s 1:100

21 7




S=1:100

6049

00 6250

1549

4500

|i00 2000 2000

157.468
8l -
8 AN
154 468
&
3
0,
3|
s o
&
g
\o
148.500
8l
2
P
5000
5500
- 6000
EC_25-2 BC_26
GH=156_95
FH=157.326
£912. 6374
2412 4500 00 749 2000 2000
157.326 ever
As i
6/41/
5 N
¢ -
154 326
25
e
©
g ]
L
&

146.600

)

\o

6000

-3

-

8
W _1.0 1. 2 0.9
1.0 W 2.5 > 1
2.5 W 4.0 1.1] o.8
4.0 W 11.0] 3.5
W 1.0 — —
1.0 W 2.5 — —
2.5 W 4.0 o.5 _
4.0 W 3.8 _
0.3 =
W 1.0 — —
1.0 W 2.5 _ _
2.5 W_4.0 1.5 -
4.0 W _ _
31.9131.9
24_.3119 4
95| 9.5
(] 1.2 1.2
0.8 =
D 0.6 —
5.4 0.9
1.1.0 = =
1 0.8 - -
g
W 1.0 1 1]l o=
1.0 W 2.5 1. 9 1. 4
2.5 W_4.0 11 11
4.0 W 10 2 1
W 1.0 — —
1.0 W 2.5 — —
2.5 W _4.0 > 6 _
4.0 W 1 _
o.a —
W 1.0 - -
1.0 W 2.5 — —
2.5 W_4.0 1.2 —
4.0 W — —
31.311331 .13
27 .2 127 .2
10 sl10 5
(o] 2. 1] 2 1
0.8
D o.6 -
5.4] 0.9
11.0 — —
1 0.8 — —

EC.25-2 NO.116

1:100

21




S=1:100
W
/ /
100570
3050 10800 5532 5268 8743 53 2080 L 4251 10093
L=4,50n__L=5.00m L=5.Q0n _ L=5.50m L=5.g0n 1=6,Q0n _ L=6.50 L=7.Qn _ L=g.50m
178°
“ v iy —
154.468 154.464 /7154.468 154.468 154]415 154 |26
/ 153.880 153.88 153655
1531280
153.877 152.680)
/ 1 R
- © Bl e - 9 - - - -9 - 22 9 9 9
L=4,50n [ t—| 23 10 10 10 2 10
B 5 ] . B _ . B B 9 T - , B
{ —= \ZK— 1 - - 1 14 1 1 1 10 24 - - 10
L:A'OOm 7 o 13 ) - - 1 1 14 1 1 1 - - 10
= 1 14 1 1 1 1 14 1
19 r - 4 1 1 1=6,50n
152.100 © - - 4 - - - = - - - - - - - - - - - - -
o - — T T u - - R - 1 t 14 1
I == 6 = . % 1 1
g8 Il ™3 / - ? - - 4 - - - - = = - - - L=6.00m
S 150.300- _ 220 - A B 3. 15 2 L=6,00m
g 00— — M/ / 2 I = 3
149.100 — 2 = — -
200 P == = 8 I Lsfom L=5.50m
— 147 200 —— 2 S
146 600 . N ST I NP S
a9 29 S -~ T s -1 - Ff L=5.00n
27 27 146.700 T 146.700
27 21 144,800 29 - ——— T B0
1=4.Q0n | L=4.500 1 1=5,00n 2§ 27 21
28] K
217
K
28]
400 4890 5700 21300 8100 5420 8100
DL=140.000 : uon—] e | DL=140.000
- ‘l 2700 Hﬁﬂﬂ” 2200 + 3§2700=8100 ;H'ﬂ‘u‘l\ 2400 ' 3§2700=8100 4&{0{& 2400 ' 5§2700=13500 jﬂﬂ‘L 2400 + 8§2700=21600 ‘l -
50 50 43" 49 50" 50 48" 48
| 1 L=100570 |
l H=1_78m L H=3 58m J H=4 78m J H=5_38m l H=6_58m J H=7 18m | H=5_98m l
1.0
( )
- S=1:300
L= 63269
Hmax = 7.18 m , Hmin = 1.78 m
©=30° ,y =19.0kKN/m O
fr=15 0.726
=10.0kN/m 2
kh = 0.12
2.00 1.20
o ta 140N/mm 2 210N/mm 2
Ta 200N/mm 2 300N/mm 2
frck = 30N/mm 2
$5400
( ) e L/6 et /3
Fs 1.50 Fs* 1.20
Fs 2.00 Fs* 1.50

ALl A2
Al 25%
A2 250mm
75mm 25%




1 2

S=1:100
5 > 2
3! 3 3]
o o o
100570
10093 3075 6660 6343 6057 20000 3020
16,500 __L=6.00m L=5.50n__|L=5.00m L=5.00m___L=4.500
——
L=6,Q0n L=, 50n
— ] b
153.148 152,925
152.580
152,00 152.273
\
151.480 151653 —
150.880 150.897
9 - - - - 9 - v g
- T . . — 7 - 150.2
1 1 10 149.680
B . N , _ . . B , R . .
Legeon - - - - - - - e - - — ] 000 148.626 148.626
1 1 i 1 13 10 148.480 - -
' 1 1 1 1 10
L=6.00m - - - = - - - - - - - - - - - - - - - - - - -9 -
L=6,00m 1 - - R = = —e -l = e e = = R - - 10 - -
{ 2 / — 1 | 6 4 ] 1
) -, [ .- - - - 16 - - - 4 - - - N B B e - -
L=5,50m L=4,50m
L=5.50m - - - - - - - - - 4 - - - - 4 - - - - 4 -
f — {14‘7 0200
1 5 I 147.900
. B | D e | - L=4.00m
L=5.00m \ 147.300-—— 146 000 o 147.300 [ I ©200/ _ — ——
16.700 |-~ 145.400 _ 145,400
- gEs 146.700
146.100,
.som 30|
27
28 29
28
8100 5400 13280 16500 5110 3370
| 88690 | 8480 |
DL=140.000
‘ 832700=21600 50“ @ 2200 932700=24300 50“
k i i ZQUJ@—MW—’L—M—%E@Q%—ZM—"
‘ 1 L=100570 ‘
L He5. 080 o HeRAAM | HeA 781 | HeAlfnm | H=3 580 I H=2 980 ! H=2 380 | H=1 780 | H=2 380 ! He1 780 |
1.0
( )
S=1:100
16. 84-1.20 9 3
oo ' 5000 ' 1| m 55 2700 12000 1200 27, 851.20 0 1
3 8. B6-1.20 1
a0 0 2 | s 4 2700] 1200 1200 0
5 3 | 7 2700 1200 1200 4
4 | 82-0.60 9 2700 600 600
5 | 83-0.60 6 2700 600 600
6 | Ba-1.20 7 2700|1200 1200 55400 4.0tx 80 L= 4.00m 2
” Lo} | 7 | B5-1.20 4 2700 1200 1200 L= 4.50m 93
- . 8 | B6-1.20 4 2700|  1200] 1200 L= 5.00m 161
9 | u2-0.58p 14 2700 580 580 L= 5.50m 13
s 10 | u4-1.18p 16 2700| 1180 1180 L= 6.00m 145
) égre 11 | BCL2-0.60-2.67 1 2670 600 600 L= 6.50m 90
12 | UcLa-1.18-2.67P 1 2670| 1180 1180 L= 7.00m 20
13 | cl4-2.20 3 2200 12000 1200 112 40 1288
14 | cla-2.40 9 2400] 1200 1200 ( ) 20tx 85x 600 370
(t=140) 15 | cL6-2.40 2 24000 1200 1200 4x 300x 550.0
| 16 | BCL2-0.60-2.20 1 2200 600 600 6.0x 115x 500 16
17 | BCL2-0.60-2.40 1 2400 600 600 234
g I 18 | BCL3-0.60-2.40 2 2400 600 600
o = 19 | BCL4-1.20-2.20 1 2200 1200 1200
: | / 20 | BOL5-1.20-2.40 1 2400|1200 1200
i 21 | ucL2-0.58-2.20p 1 2200 580 580
22 | ucL2-0.58-2.40p 2 2400 580 580
23 | ucLa-1.18-2.20p 1 2200 1180 1180
24 | UCL4-1.18-2.40P 2 2400| 1180 1180
25 | EB2-1.20 2 600| 1200 1200
26 | EU1-0.58 2 600 580 580
DL=145_000 27 | Th-1.20 10 2000 1200 1200
28 | TB2-1.20 5 2000 1200 1200
$5400 4.0% 80 29 | TU1-0.58 3 200 580 580
30 | Tu-1.18 2 2000 1180 1180
434.029
! 7000 4000




1 (@) S=1:100

NO.113

GH= 153.81
FH= 153.934

(=10.00
5
6000 500 5099 1000
1500 4500 00 2000 200099 500
v,
o
~ I
153.897 lT = 2>
2
g Y
o N
150.897
-
3
5
& g
&
r
\o
147.300 Z %7'____',
g v 4 IL)
lo'
8
B Pl e 15
145.400 8
e
/ P
i Sy
NO_112
GH= 151.63
FH 151 664
=130
ey
6000 500 5000 1000 I
1500 4500 500 2000 2000 500) [
|
i
! 9
| D4
. >
151 626 Bl o | e
‘ /
g
8
.
148 626

1:100

21 11




S=1:-100

(2

SP.25-1

GH=155.58
FH=155.825

6059 500 5500
1559 4500 500 2000 2000 50 500
K«
155.925 3000 Ko o bo &
* rd
’)"6
g r),"
152 905
B @
8 o
& 8
147.300
Y ¥ 10
E <0 Q /p'
o\ ¢ ,
185,000 2\ [ v
§
5000
. 5500
6000
BC_25-1
GH=154_58
FH=154_622
6000 500 5250
1500 4500 500 2000 2000 250 50
K
co
154.653
2
8 e
8| N
151.653
o
N
/
/
3|
&5 g
&
147.900
\sd /0
8 / © /o'
g
g ?Eh v o I
1460 \
)
1 @)
1:100
21 12




1 3)

EC.25-1 .BC_25-2
GH=155_51
FH=156.688

S=1:-100

6638 50! 6000

2138 4500 500 750 2000 2000 250 500

156.655 1. ooprh ol
=
&
155.64 & |— ———————— -
8 AP /////,/,//
= 3
C1950)D -
153.655
) 8
8
# g
Kl
14761
(900D
146.100 —Z _______
7
o Y % 10
g ) Q I/o'
o A 2
144.200 dé "
4
e
5000
5500
6000
6500
I:2]...EE.:l.iéL‘:)..._‘:)j:)___ 000
NQ _114
GH=155_49
FH=156_062
6052 500 5569
1552 4500 500104 2000 2000 465 500]
K«
156.148 L
-
g g
8
153.148
] ég
E
@
9
3 g
6700 ¢ Rl 7
Y
8 V/;éo
g
< H
144.80)
7
5500
6000
6500
DIL =140 _00 s

®)

1:100

21

13



1 4) S=1:100

NO._.115(CSP _25-2)
GH=155.43
FH=157.190

6625 500 6500

2125 4500 500 1500 2000 2000 500

156.933
2
o P
Y
8 3
153.933
e
8
0| -
146.70 ——m———————
A} W] \g
° e\ /o
§ R Q. Jo
X H N
144 8007 "\
-
5500
6000
6500
DI =140 _00
NO_114+16_00
GH=155_14
FH=157_056
6379 500 6369
1879 4500 B00_ 1304 2000 2000 65 501
K
156.877
155.64 ﬁ
8 P
3 >
C(1950)
= 153.877 :
S
Rl 8
147.61
7
(900> 146 700 7z -
22
o N
8 \ 3 /o
- oV o /h'r'
800 G\
/ < 5500
6000
6500
DI =140 _00

®

1:100

21

14



6049

500

NO.116

GH=156_65
FH=157_.318

6250

1549 4500 500 2000 2000 1250 500
157.468 S-000:
12 ‘—__-’—___________.__.___
8 P2 — -
= LY /o /
154,468
5
b
3 8
3
. o
o
\o
148.500 A & _ _/
> /0
& N\ lo
2\ L
46.600 MW
-
5000
5500
-
6000
6912
2412 4500
157.326
g ,),"
154.326
R
©
g g .
8
Ioy
I
_4/.
i 1/
g 00 | O 1&R o !
N y /o
o \)\‘\ if N N
g o |9 /e
2 ¢ "
146.600 X "
5000
5500
6000
DI =140 _00

EC_25=-2 _BC_26
GH=156_95
FH=157_.326

500 749

2000

2000

625 50

(®)

S=1:-100

DL=140_.00

6424

NO.116+12_383

500

FH=157 _309

6250

1945

4479

500

2000

2000 1250

157.454

2986

154468

588

1780

1521807 ‘o\
2\

i

200 200

2368

6-000:

®)

1:100

21

15



(@))

s=1:20

2700

1350

1350 L 1350

1
7
T

=7

s=1:20

s=1:10

20x 85x 600

85

sS=1:30

S=1:100

s=1:10

300mm

o ck=24N/mm

R e e | e | e e

0
o
S=1:50 S=1:30 (V)
0
5380 d 8
178300=5100 OI m
o Y
® SR
® .
g 0
— o
~ T | o
1 | l I H % - ’
a = = =
g
B g
S
o—
Lﬂ} 5400
S=1:20
2720
1 675 1350 675
_
el = 53] <+ 1 —
T 1y
2720 4
104, 675 ‘, 1350 ‘, 675 ’&
g = T war—
9 I i I g
! o
I I |
[ ! I 2 < o g o
S o | =) B 8 o o
1! 11 I
o o I H+ , / L
| |
| s 8 ‘
T I wor— |
&
15 2400 15
1 2700 5
5
2720 |240]
/o«
S=1:10
6.0x 60x 428

H-100

S=1:20
D13 D13
Cl= HH472 2= H+287

D13

C3= 5240

sS=1:3

s=1:10

4tx 300% L

el C

@

21

16



4.0x 80x

(S5400)

s=1:30

6.0x 115x 50!

4.0x 80x

(2)

(Ss400)

s=1:20

A

AN

= jm <
f7ck=18N/mm* < D13 @600

mJ 400 ‘

600

s=1:30

0 ()| ti(mm) t2(mm)
165 49 49
170 50 50
173 50 50

| 200._|_ 200

S=1:50

g
3
=1:-5
50
E
| i K
o) hdl )
- e N Iy
a o o : g —t = Yo
4 9 9 2 p=| b=
v w )
e %\S% 5 5
o v
Ei
! 480 ! 0
il% l 340 l% h
500
1 @
21 17



1 5 Ml 78 + BE T #t T 4k K

Tl

——
JE
<

N HEAGHE TR S=1:10

EIZ ﬁ g S=1:200

~

v

& pop

S
REEIETINN
o N

D €8 691 b
N
N
~
N N 21 g
No S 3 —m"/ 9¢ 091 °
> \Mu bosg N
~ 19 091 06 67
~ 62091 ) )
S \
\ S~ 16 6a 20 851
9191 b ~~ o, . .
: —_ L — €967
-] -
+ v -\ TN H
T 66 B, .:

{1l e-2pt 1Ry

AILE TR s-1:10

S e e N WD (] (7 NS P
I
s e i | SO "
l g
= — T e I
= : LM S i A
1, AN (N AN
- T L IR
7 > / | T R T S T
S 07 - N Tl e o 19207 o B
18051 3 - . o S L el , L J
- 4 4 5000+160, -0
09en1 \’ / \ @) I ) B
N / E 60 0p1 ®) M 69 'g;;r,—,_/_:/\
IR N ~ — P SALERIE oo

96 "¢y,

-+ AT
O 0E7Zh1 o = -
AN ¥ 'Ger 3 Ot gL
o m};m\,_//\/ 5 T
// © ¢ — b1 g1,

" v
8F M:]\(\K\_\‘E/\X_//Os-%v ° /_/\J’/_M\/\\ \

81zl o | 08 g1 o
=~ = = N
S

o SSUv TRES

S

89°1g1

\, 5000+160, -0 J

O HE, REWTE LB 2 BT 5 (T F— X ¢200) BUHF AL 25753,

X B TREICIK S A R L7 i, B licHkinm a2y 2568 5,

HTHEK TR S=1:50 Jok= > M ROFFLE M s=1:20 TR S=1:50

Pk~ >~ b 300X30

HiigeA~ > b @5000 (14240)

B Y—hosp
T i A £ i A . —

T — 1 -

H 3 — Em‘-—-'

e_ T SRR AR T4
=l XX v
Bk L3gik~ >~ b 300%30 V) — = % ————— [ T3 % 2
v I T, NP A—— L= A o W T8 K
i — ==

G| ISR Hpy
Sk () L1 o | AIEERROHEATAS s

HRIHE (B L2

AL o200 TR §200 PR CRILE) 0200 MR ki L) 9200 o L PO AR ST PSR
W R =
Vb B




L=300.0n

1:500

S

L=400.0m

19

21

22T "ON

o
MK

olo
HMREI

1PNO

<)
FH=[143.150

L= 98.945 L= 125.000

ZOT "ON




1:500

S=

L=400.0m

~I
—

D:
(]

20

21

‘ <

T
piss




1550 B Jie T 5 1 [

¥ i K

S=1:100

1551t AB% 29700

1SHmLEE

6000

AL 0+1 0]
© 144,55

146.7

S
o 148,55
2 /
N,
LA
+ I - N7 -
= = i M’\*
— [ B - R
== T YTy e 02— o =m0 —— & —— o T—__° __ " Tt
2 =2
A &
o 5 -
. As ° 151
148. 07
N 3 - 7Z N L — ¢ o
¥ s Pl I ——
Ll RIIUMARSIIUJFI
) - X/ \ X
A — —
) S
e TS
18 M
NO. 112
NO. 111
one 1s
D e
6000 200,
1500 4500 100,
N
500, 5000 1 5
500, 2000 2000 1500 1000
1 it AES "
00 V151.62
‘ | oA
| 9
g > /o
I I & /5
V149. 10 — m— J///
I/ . V148, 626
o o
4020 k:‘
DL=145. 00 DL=145. 00

I & TR OEE I%
eTEs % 8
& B FAKER

: 5

s s | WHBRARNAS R
REES | ISHRTEEIHED

w R 1:100

REES x2m






